N = Ol & AF & ZF A

A NS
HH: U™IS FOME lgr2st
= B 2guas
ol(s . (e
HE . O (BH) - NRAY - BYS Ak e
ik 148,412
AlHI 11,550
-l 136, 862
i QIdlgy DBt 3t 129,886
AlHI 11,550
el 118,336
=S UA S 129,886
AlHI 11,550
-4l 118,336
Xz 2FE=x 15,400
AlHI 11,550
-l 3,850
2B A 15,400
AlHI 11,550
-l 3,850
01 AFR 22l 15,400
OFUXNXE T2 LA
20,000& 503 x12& 12,000
AlHI 9,000
-4l 3,000
OFUNXBAAS BIABAN +g
10,0003 #25H + 122 «90% 2,700
Al Bl 2,025
-l 675
OsEs H&E 700,000& 700
AlHI 525
-l 175
s -8y gs NH 92,920
301 et24 = 92,920
05 &-cl-EtEEs2as 92,920
(OF=FS L=y 200,000 «28Y 123 67,200
Os&EHH= 200,000 +28H 23| 11,200
OgtEeEs=s 25,0003 » 156 H 23| 7,800
Os&ze &4 20,0003 28 «123| 6,720
A=A 2 XEz2tel 18,076
201 B3| 14,276
02 E&E=23Hl 14,276
O& A2 700
st 34 200, 000& 200
SH83 A 200,000& 200
= 3=\ DI BN 300, 000& 300
oxg =X 3,400,000& 3,400
OFA H&EAZH| 1,648,000& 1,648
O&AN HERX 1,258,000& 1,258
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SH UFIS
ME: YFIS FOAME |gr2s
Sl FUME YA (25 &2

_ _ _ Muo
CEE (S - MRAY - HAS Aboy e HlnE2
OFEAM &IIZ 5,350,000& 5,350
OFA & -ot==Ek2 500,000& 500
OFA R 22 1,320,000& 1,320
OFEAMN EFMHREZ 100,000& 100
ANEHI LRI 3,800 6,300 A2,500
A&HI 3,800 6,300 A 2,500
OFEAL1E 227 L 28 A 010" XA
g &x 3,800,000& 3,800
g - 24 3,190 3,890 AT00
B2 A | 3,190 3,190 0
01 AtE222|Hl 3,190 3,190 0
ORI MAL HMZ 500, 000& 500
OdI0IMESIH &8 2 300, 000& x27H 600
OdioIdEeH EH 7 170,000 *50H 850
O=ADIEH 7Y 190, 0002 *4H 760
OBAEH 7Y 160, 0002 =34 480
AEgd gs N2 300 0 300
dotE A=z 300 0 300
[Et2 432 300 0 300
OO0 249 g5 IR 24 300,000 300
L HI(2UE1S) 18,526 19,460 A934
a]l 9,300 9,340 A40
S 2 9,300 9,340 A40
HE =&l 9,300 9,340 A40
J22I PR =AY 5,940 5,940 0
OJI22IHRF4H| 6,600, 0002 *90% 5,940
02 ZFRIAHSF=EIH| 360 400 A40
O IR =2AH| 360,000 360
FN2IHRFEL 3,000 3,000 0
ORN2ILRFAHI 3,000, 000& 3,000
) 9,226 10,120 N894
]l 9,226 10,120 N894
2 et ZH| 9,226 10,120 A 894
01 AtE222/Hl 5,626 6,520 A 894
ORM2Z =&l 2,980,000& 2,980
OJI2df+d Sl 2,646,000 2,646
3322l 3,600 3,600 0
OoREz= 3,600,000& 3,600




SN UW2S
Zo: )Y2S FOIME O|BrYst
Sl FUME YA (el &2
_ _ o HEE -
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
UN2S 133,890 139,724 75,834
Al 19,200
24 114,690
UNY2S FOIME |85t 116, 134 121,004 A4,960
Al 19,200
24| 9,934
FOME YA 116, 134 121,004 A4,960
Al 19,200
24| 9,934
FoINRE 2YRE 25,600 27,760 A2,160
Al 19,200
24 6,400
201 Y2 15,400 15,760 A360
Al 1,550
24 3,850
01 AR eIt 15,400 15,760 A360
OFURAS Z2I8 LA+Y
20,0002 *505] * 122 12,000
Al 9,000
2t 3,000
OFURKSARS sl &A +g
10,0002 +252 12| +90% 2,700
Al 2,025
2t 675
0222 M 700,000 700
Al 525
-l 175
301 YLrBA2 10,200 12,000 A1,800
AlHI 7,650
24| 2,550
12 JIEHR A S 10,200 2,000 A1,800
OB BRY NAZAX AU
10,0009 +855] * 122 10,200
Al 7,650
24 2,550
S 8% 25 A 73,580 73,580 0
01 YrBA2 73,580 73,580 0
05 -2 -IEESRAZ 73,580 73,580 0
Oszy+g 200, 00021 *22% * 122 52,800
OSHA0Z 200, 000! #2284 *25| 8,800
OsEsl B 20,0002 %222 *122 5,280
OoptEN3 25,000 * 1342 %23 6,700
HARN 2 xR 13,634 15,634 A2,000
201 Y2 13,634 14,634 A1,000
2 BB 13,634 14,634 A1,000
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SN UHIS
M@ 1HIS FOME I|grs
Sl FUME 2YLHAS (25 &2
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
N3 145,309 147,309 A2,000
AlHI 19,575
24 125,734
WIS FOIME |85t 127,583 128,383 A800
AlHI 19,575
24| 108,008
FOME YA 127,583 128,383 A800
Al 19,575
24| 108,008
FOINKIE 2YBE 26, 100 26,100 0
Al 19,575
-4l 6,525
201 Yer2 Y| 16,840 16,840 0
Al 2,630
24 4,210
01 AR eIt 15,400 15,400 0
OFUNKSE T2y AL
20,0002 #5038 * 122 12,000
Al 9,000
2t 3,000
OFURKSARS sl &A +g
10,0002 +25% * 1251 *90% 2,700
Al 2,025
2t 675
0222 M 700, 0002 700
Al 525
-l 175
2 222 1,440 1,440 0
OXSTHB QY AR 120,008 128 1,440
Al 1,080
2y 360
301 LB AI 6,260 6,260 0
At 4,695
-4l 1,565
12 JIER A3 6,260 6,260 0
R2CHD NBZAX A2
20,0002 %3133l 6,260
Al 4,695
24| 1,565
405 THAHEH S 3,000 3,000 0
Al 2,250
24 750
EEET 3,000 3,000 0
OX2THR ©A 2 10,0002 *300% 3,000
Al 2,250
2t 750




R kK=
g NH3S FQHE Jlgt2st
el FUIME 2dUlas) (e a2
S BB SR (B) - NEAY - BAS 0f & o Soe DB
s oy g5 N2 72,880 72,880 0
301 Let2a= 72,880 72,880 0
05 &-cl-egEas2as 72,880 72,880 0
Oos&=¢ 200,000 22 122 52,800
Oosddu= 200,000& »22H 23| 8,800
Osd2 F4+¢ 20,0003 «22H »123] 5,280
OerE=Ea=s 25,0003 *120E #23] 6,000
BAMNFA & XteE2el 25,113 23,413 1,700
201 et 21,433 21,433 0
02 33234l 21,433 21,433 0
OFE At2tel 700
st A 200,000& 200
S83 F& 200,000 200
d - eI )X 300,000 300
Oxtegs /A 3,200,000& 3,200
OF A HEHZH| 2,575,000& 2,575
OEAMN HdE=A 2,875,000& 2,875
OEAMN &Iz 9,095,000& 9,095
OFA RelgX 2 1,692,000 1,692
OFA B3N RE= 96,000 96
OFAN WERLRES 400,000& 400
OEM & -ot=k2 800,000& 800
307 elztold 1,980 1,980 0
05 BIZtAE S 1,980 1,980 0
O2+FtAE A5 165,000& 12 1,980
401 AIEHIZL 20 1,700 0 1,700
01 Al£Hl 1,700 0 1,700
OFA 28 HIIs& SA 1,700,000 1,700
Qs 29 3,190 5,690 A2,500
201 et 3,190 3,190 0
01 At22t2lH 3,190 3,190 0
OBIAKNA M 500,000& 500
OdoldEed =8 2¢ 300,000& 2K 600
OdoldEZed &Y +¢ 170,000 =54 850
O=AIEH 2 190, 000& 44 760
OoHAEYH 2 160, 000& «3H 480
ol Xtse 2S X 300 0 300
301 LetE2H= 300 0 300
12 JIEt2 4= 300 0 300




[}
R’

ok
ol

o (e} (e} (@] () (@] (@) o o o () o
(@] o o (@) (@)
Al A Al < <
- - =1« <
m_o < <1«
=
=
(<o} o o o O o o [<e} [<e} © © o
[aN] o o o < «© [«] Al Al Al [eN] o
Q@] 2| @ @ S olo|xl9 ~
mm, o |lo|o|lw ™ o || o|w IS}
LH3r
m<l
KIS
o © o o o (@] (@] (e} o o o «© «© «© © o © o o
(] [qV] o (@) o <t < «© «© o o Al [eN] Al [eN] [ee] < o (@]
DN R|A N[ DOm0 S O |F(T[F]|C 2 © 0 D
W (0] (0] ()] 0 W @ ™ [ee] [ee] [e6] 0 AN A (eI eV
3
<
=
o S [ o o oy ot
o ()} o o o o (e}
o * o o o o o
< o) < < e < <
mr o o o o o © o
(e} (e} «© (e} Q < (e}
L S o S ® © o
. ©
ol EL ©
= %
I o
= |® —
° 1o B Es) E=] %
= |m T R 3 R T R i
N RICKF ROKE RO =
G -t K- OF K- O kb OF (U
& %g — OF 3 0OF 3 0oF & <Fo<F
o R o |3 3 3 % 31 &0 ol|lz ® o m
mm RJ|80 O < ~ 30 O 3 |~ O & 30 M
- ol | KE|oH &) &~ o o X Wi = W o &
ROk 2 T|oO|lm ~ W R T I n) |0k D =~ MO OF
R |O|lz|sls|lam|s O 0 O I O T|lan|= O O M O
. RO 80| OH | o | — N < T R~ | «
g ||| | S = lW||C =]
oF O | @r | o T
%0 | o ~

0




A WH4S

M N E4S FLMHEH Dlgr23st
Crol FOIME 2faE (e @)
— _ N e
SA B B(E) - NEAY - BAS 0f & 04 e HInE
ANEL= 119,457 125,831 ANG,374
Altl 13,710
-4 105,747
WIS FCHEH J|8t2 3t 101,701 108,075 ANG6,374
AlHI 13,710
el 87,991
FOHEH 2Z WA 3t 101,701 108,075 ANG6,374
AlHI 13,710
-4l 87,991
FUXXE 292X 18,280 18,280 0
AlHl 13,710
4 4,570
201 L3y 18,280 18,280 0
AlHl 13,710
4l 4,570
01 AFR 22l 18,280 18,280 0
OFOUXXE Z2 08 ZAIY
20,0002 »623] *12& 14,880
AlHl 11,160
=l 3,720
OFOUNAALE SlOBM 42
10,000 & *25H x 123] *90% 2,700
AlHl 2,025
-4l 675
OsEs H&E 700,000& 700
AlHI 525
I 175
s Bty gs N2 66,000 66,000 0
301 LEEAZ 66,000 66,000 0
05 &-cl-EtEEs2as 66,000 66,000 0
(OF=FS L=y 200,000& «20H x12& 48,000
OsEHHB 200,000& x20Y x23] 8,000
Os&3 o a8 20,0002 »20H 12 4,800
OB A3 25,0003 104 Z 23| 5,200
HAST 2 DL 4,101 16,675 A2,574
201 LEt23| 14,101 14,101 0
02 23=2ZH| 14,101 14,101 0
OF At 2tel 700
X A 200,000& 200
=83 A 200,000 200
== =N 300,000& 300
Ooxg SAl 3,200,000 3,200
OFE A HeAZHI 2,060,000 2,060
O&EAM HE2RA 1,561,000& 1,561
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SN gels
M g2|S FOME I8

ool FUMEHRY LHas (25l &2
— — XN H
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
gols 179,422 175,006 4,416
Al 13,710
24 165,712
Z2lS ZOIME JlPL s 158,112 152,732 5,380
Al 13,710
24| 144,402
ZOMERY s 158,112 152,732 5,380
Al 13,710
24| 144,402
FOINKIE 2YBE 18,280 15,400 2,880
Al 13,710
-4l 4,570
201 Yer2 Y| 18,280 15,400 2,880
Al 13,710
-4l 4,570
01 A2l 18,280 15,400 2,880
OFUNKSE T2y AL
20,0002 #6238 * 122 14,880
Al 11,160
2t 3,720
OFURKSARS sl &A +g
10,0002 +25% * 1251 *90% 2,700
Al 2,025
2t 675
OE=22 M 700, 0002 700
Al 525
-l 175
S 2% 25 X8 117,050 117,050 0
01 LerE A 117,050 117,050 0
05 -2 -EESRAZ 117,050 117,050 0
osz+g 200,000% +35% * 122 84,000
OSZA0Z 200,000% *35% +25| 14,000
OSZslolas+g 20,0002 %35 * 128 8,400
OUrEEAS 25,0002 x213% +23| 10,650
HALRK o RE2el 18,772 13,772 5,000
201 LByl 13,772 13,772 0
2 ZZ2YH| 13,772 13,772 0
OB A2 700
HEE Ha 200, 000! 200
293 4 200, 00024 200
4 Ul /X 300,0002! 300
Oxg KX 2,400,000 2,400
OFAM Lt 2H| 1,648,0002 1,648
OFAM AZRX| 1,081,0002 1,081
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SN gels
M g2|S FOME I8

Sl FOMESY Lfas (a2
SN HH G (EH) - MBAY - BYS 01l &k o Soe s

OFEAM &IIZ 5,564,000& 5,564
OFA & -ot==Ek2 620,000 620
OFA R 22 1,649,000& 1,649
OFEAMN EFMHREZ 110,000& 110

401 A EHIL 204 5,000 0 5,000

01 Al&t| 5,000 0 5,000
Oouldl= s AtR4d B 5,000,000& 5,000

QAT 2Y 3,710 6,210 22,500

201 LBt F Y| 3,710 3,710 0

01 AFR22lH| 3,710 3,710 0
ORAAMA M 500, 000& 500
OdioIdEelH &8 2 300, 000& *2J4 600
OdioIdEeH EH 72 170, 0002 *6H 1,020
OSMIEH ¢ 190, 0002 54 950
OBAEH 2¢ 160, 0002 44 640

=0 I=s2d 23 N 300 0 300

301 LetE A= 300 0 300

12 JIEt2 43 300 0 300
O=0 =<9 g3 #IHA 24 300,000 300

HYy 2P (Zels) 21,310 22,274 A 064

el | 10,510 10,550 A40

el A 10,510 10,550 240

203 HRF&Hl 10,510 10,550 A 40

01 J|22SHFRF=&HI 7,110 7,110 0
OJI 22 HRF48] 7,900, 000& *90% 7,110

02 FJANMAHRFAHI 400 440 A40
OZFAINAHRFAHI 400,000& 400

04 BEASSEHFFEHI 3,000 3,000 0
ORNMBEHEF=AHI 3,000,000& 3,000

Jl2&H| 10,800 11,724 AN924

Jl=3| 10,800 11,724 A924

201 Let2dH| 10,800 11,724 A924

01 AFR 22l 6,300 7,224 A924
ORNM2E=EH| 3,360,000 3,360
OJl=gdf=8 =gl 2,940,000 2,940

02 33234l 4,500 4,500 0
oREZ 4,500,000& 4,500
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FM: GtEHs
g StEHsS F=QIdE Jlet2 st
ol FRME 2EUlHAE (98

22
J2

132,399
Al 9,750
2| 122,649
DIMEl Jl¥r 5 113,159
AlHI 9,750
2| 103,409
sl 113,159
Al 9,750
2| 103,409
Axls 2Y2E 13,000
Al 9,750
2| 3,250
sty 13,000
Al 9,750
2| 3,250
01 A2l 13,000
OFUNKSE T2y AL
20,0002 %403+ 122 9,600
Al 7,200
2| 2,400
OFQX XIS 59 &A ag
10,0002 +25% * 1251 *90% 2,700
Al 2,025
2l 675
OE=22 M 700, 0002 700
Al 525
-l 175
S 2% 25 X8 82,450
01 LerE A 82,450
05 S-2-BZESEN 82,450
osz+g 200, 0002 x25% * 122 60,000
OSZA0Z 200,000 *258 x23| 10,000
OSFslo gH+g 20,0002 25 « 128 6,000
OU B4 25,0002 129 +25| 6,450
HALRK o RE2el 13,699
201 LByl 11,999
02 IZ2Y| 11,999
OB B2 700
HEE HA 200, 0002 200
293 4 200,0002! 200
4 Ul /X 300,0002! 300
oxg KX 2,400,000 2,400
OF A el Z | 1,648,0002 1,648
OFA AZRX 1,058,0002 1,058
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SN BIEHE
ZH: otHH1s FCIME I8t 5}
el FUIME 2dUas) (e a2
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
OFEAM &IIZ 4,061,000& 4,061
OFA & -ot==Ek2 450,000& 450
OFA R 22 1,612,000& 1,612
OFEAMN EFMHREZ 70,000& 70
401 A EHIL 204 1,700 4,500 A2,800
01 Al&t| 1,700 4,500 A 2,800
OFEAMN &I S& 1,700,000& 1,700
QAT 2Y 3,710 4,910 21,200
201 LBt F Y| 3,710 3,710 0
01 AFR22lH| 3,710 3,710 0
ORAAMA M 500, 000& 500
OdioIdEelH &8 2 300, 000& *2J4 600
OdioIdEeH EH 72 170, 0002 *6H 1,020
OSMIEH ¢ 190, 0002 54 950
OBAEH 2¢ 160, 0002 44 640
=0 I=s2d 23 N 300 0 300
301 LetE A= 300 0 300
12 JIEt2 43 300 0 300
O=0 =<9 g3 #IHA 24 300,000 300
HY2HHHI(SIEHS) 19,240 18,276 964
el | 9,340 9,300 40
el A 9,340 9,300 40
203 HRF&Hl 9,340 9,300 40
01 J|22SHFRF=&HI 5,940 5,940 0
OJI 22 HRF48] 6,600, 000& *90% 5,940
02 FJANMAHRFAHI 400 360 40
OZFAINAHRFAHI 400,000& 400
04 BEASSEHFFEHI 3,000 3,000 0
ORNMBEHEF=AHI 3,000,000& 3,000
Jl2&H| 9,900 8,976 924
Jl=3| 9,900 8,976 924
201 Let2dH| 9,900 8,976 924
01 AFR 22l 6,300 5,376 924
ORNM2E=EH| 3,360,000 3,360
OJl=gdf=8 =gl 2,940,000 2,940
02 33234l 3,600 3,600 0
oREZ 3,600,000& 3,600
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SM: otees
Ha: otios FUME I8
Sl FOIME 2YLHAS
_ _ HE T
N EH .o (300) - HRAY - BYS gl 0l ot o
otere 166,704 172,384
AlHI 18,495
2| 148,209
StEres FEOIME JlerYst 146,564 152,744
AlHI 18,495
2| 128,069
ME 2YUAS 146,564 152,744
AlHI 18,495
2| 128,069
IXE 2YBE 24,660 27,540
AlHI 18,495
2| 6, 165
201 Y2 gy| 15,400 18,280
AlHI 11,550
2| 3,850
01 AtR2elt| 15,400 18,280
OZQINXIE T2 AASS
20,0002 *503] 128 12,000
AlHI 9,000
2| 3,000
OFQX XIS 59 &A ag
10,0002 252 * 125] 0% 2,700
AlHI 2,025
2l 675
OE22 M 700,000 700
AlHI 525
2| 175
301 YerBAZ 6,260 6,260
AlHI 4,695
2| 1,565
12 JIEt2 A 6,260 6,260
RC B NHASAKR AHI2Y
0,0002 *3133] 6,260
AlHI 4,695
2| 1,565
405 RH&HE S| 3,000 3,000
AlHI 2,250
2| 750
02 TATHI 3,000 3,000
ORSTHZ TN 2 10,0002 *300 3,000
AlHI 2,250
2| 750
B 2 98,250 98,250
301 YerEA3 98,250 98,250
05 S-2 - ernes2NE 98,250 98,250
Os=E+g 200,002 *30 * 122 72,000
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M StE2S
M GIE2E FOIME DI85
CHe: FOIMEH 2FHAS} (&te @2
2MH - 2 . H2(ZH) - MEAY - BES agell dE = Hns2
BN B O - HSAY - B2 Sh Of] &F o8 e
OsS=EANH2 200,0002 302 x23 12,000
OEXS| 9 a4t 20,0002 *30% 122 7,200
Opt&EAZ 25,0002 * 1412 «23 7,050
HASK & xtarael 19,644 21,744 22,100
201 L] 16,644 17,844 21,200
02 2229 16,644 17,844 21,200
OF A2 700
Mol x HA 200,000 200
293 HA 200,000 200
W g X 300,0002 300
oxtg |X 3,400,000 3,400
OFA L H 2| 1,648,000 1,648
OFM AHESX 1,530,000 1,530
OFAM HII2 6,955,0002 6,955
OFAM & - 5l=E2 550,0002 550
OFAN RIGE L2 1,769,000 1,769
OFA SAMWLRSZ 92,000 92
401 AlEHIL 20| 3,000 900 2,100
01 Al&H] 3,000 900 2,100
OFAM HId2AF 2 &) =4 3,000
C2ZE HHEZAH(IHA—-BM A AlE)
1,500,000 1,500
HAL ®SE KW B4 1,500,000 1,500
DIRED 29 3,710 4,910 A1,200
201 LBt Y] 3,710 3,710 0
01 AFR22lH] 3,710 3,710 0
ORI AL HIE 500,000 500
OdoIMERIH €8 ¢ 300,000 2K 600
OdoIMERIH EY 2¢ 170,000 *6H 1,020
O=MIIEH ¢ 190, 0002 *5H4 950
OHAEY ¢ 160, 0002 %44 640
=0 edd 2= 12 300 0 300
301 LEBAS 300 0 300
12 JIEIB A2 300 0 300
OZF0l Xsgd &= ZHIIX BA  300,0002 300
A2 HH|(5HE2s) 20, 140 19,640 500
ol 2 H] 9,340 9,340 0
012 2| 9,340 9,340 0
203 R =ZAH 9,340 9,340 0
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SH: ABIS
Ha: MBS FLIME JIBLE
el ZOIME 2L (e @8
_ _ HE T
£ A SR (BI) - MRAIY - BES Ao il i~ o Rz
MBS 157,220 176,084 ~18,864
ALt 1,700
2| 145,520
MBS F ol st 137,980 155,580 A17,600
ALt 11,700
2| 126,280
01 I Ef Hal &t 137,980 155,580 A17,600
ALt 11,700
2| 126,280
=oINHE 2YLEE 15,600 15,400 200
Al 11,700
2| 3,900
201 Yereg| 15,400 15,400 0
At 1,550
2| 3,850
0f 2l 15,400 15,400 0
TxE TR ALY
20,0002 *503] 128 12,000
Al 9,000
2l 3,000
RXSIAE BB £
10,0008! %2583 * 1251 +90% 2,700
Al 2,025
2| 675
OE22 M 700,000%! 700
Al 525
-l 175
301 YsrEAS 200 0 200
AlHI 150
2| 50
10 e 200 0 200
ol B=2sHE WA 200,000 200
Al 150
2| 50
S Uy 25 X2 105,830 105,830 0
301 YLrBAZ 105,830 105,830 0
05 £-2 - RSN 105,830 105,830 0
OSz4+g 200,008 *32% * 122 76,800
OSZA0I2 200,000 %3283 x23| 12,800
OsZslo Fu4g 20,0002 %3281 x 122 7,680
OUEBAS 25,0002 * 1712 x23] 8,550
HARX L X 12,540 27,440 A14,900
201 Yer2g| 12,540 12,540 0
02 ZTZ2H| 12,540 12,540 0
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SN MBS
HE: ATS FOME J|gr2st
el ZOIME 2L (25 &2
— — XN H
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Oflﬂg; Hnz2
NP 122,704 128,504 5,800
Al 1,550
2| 111,154
MBS FDIME J|Brs 104,578 110,378 5,800
Al 11,550
2| 93,028
ZOIME 2Yals 104,578 110,378 75,800
Al 11,550
2| 93,028
FOINKIE 2YBE 15,400 15,400 0
Al 11,550
2| 3,850
201 Yer2 Y| 15,400 15,400 0
Al 1,550
2| 3,850
01 A2l 15,400 15,400 0
OFUNKSE T2y AL
20,0002 #5038 * 122 12,000
Al 9,000
2l 3,000
OF AN sl &4 &g
10,0002 +25% * 1251 *90% 2,700
Al 2,025
2| 675
OE=22 M 700, 0002 700
Al 525
-l 175
S 2% 25 X8 69,290 69,290 0
01 LerE A 69,290 69,290 0
05 -2 - UPHS2BAI 69,290 69,290 0
osz+g 200,0002 x2124 %122 50,400
OSZA0Z 200,000 *2124 +23] 8,400
OSFslo gH+g 20,0002 %21 * 128 5,040
OU B4 25,0002 109 +25| 5,450
HALRK o RE2el 16,398 21,398 25,000
201 LByl 16,398 16,898 AB500
02 IZ2Y| 16,398 16,898 A500
O AZ2 700
Hotx A 20,0002 200
293 4 20,0002 200
4 Ul /X 300,0002! 300
OxXg !X 3,400,000 3,400
OB AL Lol 2| 1,648,0002 1,648
OFA HE2RX 1,349,0009 1,349
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SN

=R DIMIE I8t
SEE S A3
_ _ HE T
CSRI(BH) - HRAMY - BS arey i
3 115,109 116,109
AlHI 9,750
| 105,359
32 R 96,983 97,983
AlHI 9,750
| 87,233
A5 96,983 97,983
AlHI 9,750
| 87,233
MxE ePRE 13,000 13,300
AlHI 9,750
2| 3,250
Sl 13,000 13,000
AlHI 9,750
2| 3,250
2l 13,000 13,000
TXE TRIY BALY
20,0002 *403| * 128 9,600
AlHI 7,200
2l 2,400
NXIA2E BIOEA Y
10,0002 «25% *123] «90% 2,700
AlHI 2,025
2l 675
22 NN 700,000 700
AlHI 525
2| 175
s By 25 (¥ 62,660 62,660
301 LetEaa 62,660 62,660
05 -2 - PRSI 62,660 62,660
OsX+Y 200,0009! *19% * 128 45,600
OSSN 200,000 *19% +23| 7,600
OSH39 BHLY 20,0002 192 * 122 4,560
OosrEAZ 25,0002 98 *23] 4,900
HARN L Rzl 17,833 17,733
201 Y2y 13,333 13,333
02 ZZ2H| 13,333 13,333
OFAr22l 700
HotE Ha 200,000% 200
s93 M4 200,000% 200
Y- o RX 300,000 300
2 2 3,400,00094 3,400
L] 824,000% 824
A2RX 789,0002 789
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SN HES
HH: mels ZOMEH D

=B | 8r2 5t
el ZOIME 2L (el &2
. _ o HEG =
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2

OB &II2 5,136,0002 5,136
OB & - 51452 600, 0002 600
O RUGHL4E 1,800,0002 1,800
OB BN 84,0002 84

401 AlZHIL 2O 4,500 4,400 100

01 Al&H] 4,500 4,400 100
OArRAl FIIZA 2,400,00024 2,400
O=SyYs Uy 2,100,00024 2,100

RET 29 3,190 3,990 800

201 Lty 3,190 3,190 0

01 At 2r2ly| 3,190 3,190 0
OBIBMA M= 500, 0002 500
OuoIHEE S P 300,0002 x24 600
OHOIHEUE EH P 70,0002 54 850
O=AIIEH 7 190,0002 x4 760
OmAEY 7Y 60,0002 32 480

=0 eYe 2 X 300 0 300

301 YB3 300 0 300

12 JIEHB A2 300 0 300
OF0 UE8Ye S AKX 24 300,008 300

M A A (HIE) 18, 126 18,126 0

oz 2y 9,300 9,300 0

ol 2yl 9,300 9,300 0

203 HRFAY| 9,300 9,300 0

01 JlZSYAR=Y| 5,940 5,940 0
OB Y=Y 6,600, 0002 *90% 5,940

02 HRIIAYRERY] 360 360 0
OB LAY 360, 0002 360

04 BNRYAREAY 3,000 3,000 0
ORASZAR=Y) 3,000,00024 3,000

o= 2 bl 8,826 8,826 0

2 8,826 8,826 0

201 Loy 8,826 8,826 0

01 At 2ty 5,626 5,626 0
OSN2Y 22| 2,980,000% 2,980
OJl=Yeas eyl 2,646,00024 2,646

02 BZ2Y| 3,200 3,200 0
osEE 3,200,0002 3,200
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SN BE2S
M REE FUME D

s | 8H2s 5t
Sl FUIME YA (el &2
- . HEC
SA - M. SR(F) - MPAY - BAS Off &F oA il b o bRz
XS 175,383 174,713 670
AlHI 15,277
24 160, 106
Z22s ZOIME JI8H2 st 153,109 152,439 670
AlHI 15,277
24| 137,832
FOME YA 153,109 152,439 670
Al 15,277
24| 137,832
FoINRE 2YRE 20,370 15,400 4,970
Al 15,277
24 5,093
201 Y2 20,370 15,400 4,970
Al 15,277
24 5,093
01 AR eIt 18,280 15,400 2,880
OFURAS Z2I8 LA+Y
20, 00021 #6251+ 122 14,880
Al 1,160
2t 3,720
OFURKSARS sl &A +g
10,0002 +252 12| +90% 2,700
Al 2,025
2t 675
0222 M 700,000 700
Al 525
-l 175
2 222 2,090 0 2,090
ORMEY N4 U Y&EY)
1,400,0008 1,400
Al 1,050
2t 350
OQEY ABE 690, 000! 690
Al 517
24 173
S8 25 AR 114,710 114,710 0
301 YLrBAE 114,710 114,710 0
05 £-2-BEES2AZ 114,710 114,710 0
Osz+g 200, 00021 *34% *122 81,600
OSHA0I 200, 000! *3481 *23] 13,600
OsHslo BN2Y 20,0002 %342 *122 8,160
OUEENS 25,0002 %2278 %23 1,350
AN 2 X2 14,019 14,519 A500
201 L2 14,019 14,019 0
2 ZZ2YH| 14,019 14,019 0
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M OIS

& s QMg I8t 5t
el FOIME 2dUlas =E))
- _ _ N e
SN C(BH) - NRAY - HES Aro e 2
CHH 1S 241,506 242,216 ATI0
Alt] 14,610
-l 226,896
CiiH1s =2IdIE J|8-2 3t 212,408 212,758 A 350
AlHI 14,610
el 197,798
FOHEH 2Z WA 3t 212,408 212,758 A 350
AlHI 14,610
-4l 197,798
FUXXE 292X 19,480 20,080 A 600
AlHl 14,610
-l 4,870
201 L3y 18,880 19,180 A300
AlHl 14,160
-l 4,720
01 AFR 22l 18,880 19,180 A 300
OFUNKSE T2y AL
20,000 623 x12& 14,880
AlHl 11,160
-4l 3,720
OFBIXAAS 30 &A g
10,000 & *25H x 123] *90% 2,700
AlHl 2,025
-l 675
O2=02 ZstdEwa M=l 50,0008 «12& 600
Al 450
-l 150
OsEs M 700,000& 700
AlHl 525
4| 175
301 LEtB A= 600 900 A 300
AlHI 450
-l 150
10 SALAHIEA = 600 900 A 300
O2=0 st=23tME At 300,000& »23] 600
AlHI 450
el 150
s - g A 171,490 171,240 250
301 et A3 171,490 171,240 250
05 E-cl-EtEEs2as 171,490 171,240 250
Os&=+g 200,000& *51F =123 122,400
OSZaH= 200,000 *51H *23| 20,400
Os&3e &4 20,0003 51E«12& 12,240
OBt A3 25,0003 329K 23| 16,450
BAFA E Xzt 15,258 14,258 1,000
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2A: Oi1s
2 CtOiH1s =2AE D823t
el FOIME 2dUlas (e a2
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
201 LBt249h| 13,758 13,758 0
02 ss294| 13,758 13,758 0
OF A2 700
X HA 200,000& 200
=443 A 200,000& 200
Y- e 2 300,000& 300
Oxg =X 2,600,000 2,600
OFA HEAZH| 204,000 204
O&AN HESX 1,130,000& 1,130
OFAN ®Izg 6,955,000& 6,955
OFA & - 3txx=&z 500,000& 500
OFAN RO Z 1,611,000& 1,611
OFAN SENELEZ 58,000& 58
401 AlEHI L2 1,500 0 1,500
01 Al&HI 1,500 0 1,500
O=F0dH M E F=XE == &
1,500,000& 1,500
AT 29 5,880 6,880 A 1,000
201 LBet249h| 5,880 5,880 0
01 AtR22telyl 5,880 5,880 0
ODJAANA M= 500,000 500
OdIOIMERIEH EE 2¢ 300, 000& =4 JH4 1,200
OdioIMERIH EH 2¢ 170,000& * 1090 1,700
OsAIEYH 2Y 190, 000 *8IH 1,520
OomAEYH 2 160, 000 =64 960
=0 syd g5 N3 300 0 300
301 LLBAS 300 0 300
12 JIEt2 A2 300 0 300
O=F0l Xrsyy &= &ItAF B4 300,000 300
HESAAH (CHH1s) 29,098 29,458 A\ 360
ol 2AH| 11,990 11,990 0
ol 2| 11,990 11,990 0
203 LR =& 11,990 11,990 0
01 J|22I YR =4 7,110 7,110 0
OJI2A2HERFAY| 7,900, 000& *90% 7,110
02 HRIAHRE=EY| 680 680 0
OF AP RFEH| 680,000 680
04 2EASIIRF=EH| 4,200 4,200 0
ORNSIHERFAY| 4,200,000& 4,200
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SN
X XH .
S Tt

el

Ctth1s
HHE2AZHI(CH
Jl=238l

L RE-E

- SHRI(EIAH) - IR A

o .

=

e

[
2

=34l 17,108
Jl=3Hl 17,108
201 LEH2 | 17,108
01 At 2t2lbl 11,108
OFAM2E+=2Hl 6,110,000& 6,110
OJl=gf=88 =&l 4,998,000& 4,998

02 3323l 6,000
oR¥Ez 6,000,000 6,000
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M CHH2E

M CHH2S FOIME Dlgrst
Sl FUME YA (el &2
_ _ - HEE -
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
CHHoS 196,639 206,219 £9,580
Al 14,880
24 181,759
CHHoS FOIME JI8H2s 170,009 179,289 £9,280
Al 14,880
24| 155, 129
FOME YA 170,009 179,289 £9,280
Al 14,880
24| 155, 129
FoINRE 2YRE 19,840 22,720 A2,880
Al 14,880
24 4,960
201 Yer2 Y| 16,840 19,720 A2,880
Al 2,630
24 4,210
01 AR eIt 15,400 18,280 A2,880
OFUNKSE T2y AL
20,0002 *505] * 122 12,000
Al 9,000
2t 3,000
OFURKSARS sl &A +g
10,0002 +25% * 1251 *90% 2,700
Al 2,025
2t 675
0222 M 700,000 700
Al 525
-l 175
2 222 1,440 1,440 0
OXSTHB QY AR 120,008 128 1,440
Al 1,080
2y 360
405 THAHE St 3,000 3,000 0
At 2,250
-4l 750
T 3,000 3,000 0
ONSETNB TN 7Y 10,0002 *3002 3,000
Al 2,250
2y 750
S 8% 25 Y 123,340 123,340 0
301 LB AI 123,340 123,340 0
05 -2 -HPBS2HI 123,340 123,340 0
Oszy+g 200, 00021 *36% * 122 86,400
OSHA0Z 200, 000! *362 *25| 14,400
Os¥slo &&4+Y 20,0002 *36% * 122 8,640
OUEEN3 25,0002 %2788 *23| 13,900
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M CHH2E

M oS FOIMH I8
Sol: ZOIME 2YLHA S (crel @
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SAN-ZH-SA(FA) - NFAY - BES Off &F OH Ol Ak O Blusz
IANRX Lz 22,819 28,819 16,000
201 Yer2oy| 20,819 20,819 0
02 BB 20,819 20,819 0
OFANSX 700
HotE Ao 200,0002 200
s93 ¥4 200,0002! 200
Y Ll R 300,000 300
Oxg KX 2,200,000 2,200
OFA A28 1,800,000 1,800
OFAMN ®IIZ 11,770,00084 11,770
OHAN 4 - 5t+E8 1,000,000 1,000
OFAN SUYXLLE(HALHSTA D)
3,000,0002 3,000
OFAN #INERLS 99,0008 99
OFA DERLRES 250,000 250
401 N&HIYL Y] 2,000 8,000 6,000
01 Al& 2,000 8,000 26,000
OSA SASHEA 2D H 2,000,000 2,000
DT 29 3,710 4,110 2400
201 Yer2y| 3,710 3,710 0
01 AR22IH| 3,710 3,710 0
ORIMAL HI= 500,000 500
OO NZRIE S8 7 300,000 <201 600
OMOIMZRIE EH 7 70,0002 67 1,020
O=AIIEH 7Y 190, 0002 51 950
OBAEL 7 160, 00021 <4JH 640
=0 8y 2= 300 0 300
301 LerE A3 300 0 300
12 JIEtR A S 300 0 300
OZFQ NS 2E MK 24 300,000 300
#H2SYAYI(CHH2S) 26,630 26,930 A300
ol e 10,710 10,710 0
ol e 10,710 10,710 0
203 YR FAY| 10,710 10,710 0
01 JlBeg AR EAY| 7,110 7,110 0
OJleegeexaY| 7,900, 0002 *90% 7,110
02 HAIAHRFEAY| 600 600 0
OF YD EAY] 600,000 600
04 RASZAREAY 3,000 3,000 0

_32_




oF
R”J

ok
ol

HI(CttH2s)

]

B0 80
W0 o1 b
=5 R0 A
3 %0 o

SN

7
o Tt
=

o o o | o o
o (@]
(47 [ep]
A0 <A
KIo
E
D
o o o o o
AN N [a\) Al (]
[aV} AN (@] (@) [«
cle|el|e o
43l
L1
RIS
o o o (=] o O O o O
o QAl Ql Ql (SN o O
Slele|a|2 v ¥ S 2
3
<
=3
o W o
o o O o
o o O o
o o O o
o |s S o S
o - o
0 |2 A 2
mu._ @ © < Y9
ol
=
I+
= —
e E= =
= |= o
i I 5 M
o o oo 30
x| o<k
o |2 S |D 8 0k =
0H 8 [m 00 3 B M
- | X |/ X W o &
N DI o) |OF DF ~ MO OF
RO |O T|a|<x O O A O
. DR == o~
i 7o | m o (=}
IF W=
m

_33_



SN PHS
M 2ES FQdH I8t E
Sol: ZOIME 2YLHA S 9
S (SH) - MBAY - BHES Abol ®MEC s
TEs 77,511 77,975 Aded
AlHI 10,500
-4l 67,011
TES FQdg Ol 62,703 62,293 410
AlHI 10,500
T Hl 52,203
OlME 24 62,703 62,293 410
AlHI 10,500
-l 52,203
FQUXX e 22X 14,000 15,290 A 1,290
AlHI 10,500
-4l 3,500
2B A 14,000 15,290 A1,290
AlHI 10,500
-4l 3,500
01 AtR 22 13,000 13,290 A 290
OFRXXE T2 2AsE
20,000& 403|123 9,600
AlHI 7,200
-4l 2,400
OF0IXXAAZ 3A&EN =Y
10,000 x25H +123] 90% 2,700
AlHI 2,025
-4l 675
Os=22 A 700,000& 700
AlHI 525
-l 175
3523 1,000 2,000 A 1,000
OFAF | Br g
1,000,000& 1,000
AlHI 750
-4l 250
s - E g5 N 31,410 31,410 0
301 et as 31,410 31,410 0
05 S-cl-EEs2a3 31,410 31,410 0
Os&=¢ 200,000& 9~ 12& 21,600
OS&aM= 200, 000& x9H #23] 3,600
Os&3lo H&+E 20,0003 x9H x 128 2,160
OgtEeEs=s 25,0003 +x81H *23| 4,050
A=A 2 XEz2te 11,873 11,873 0
201 B3| 11,873 11,873 0
02 2323l 11,873 11,873 0
O&F A2 700
Z3E A 200,000& 200
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A 15
Ha: AH(S T4
= B 22U
— _ XN H
HE - SR (BH) - MRAY - B S Aro e
& 168,230 162,894
AlHI 11,550
-l 146,680
Z SRS 138,590 141,990
AlHI 11,550
T Hl 127,040
23U 138,590 141,990
AlHI 11,550
-4l 127,040
Xz 2FE=x 15,400 15,400
AlHI 11,550
-l 3,850
2B A 15,400 15,400
AlHI 11,550
-l 3,850
01 A2 15,400 15,400
O=al S22 Mg
20,000& 503|123 12,000
AlHI 9,000
-4l 3,000
OFQXXIAAS 59 &A g
10,0003 #25H *122] *90% 2,700
Al Bl 2,025
-l 675
Oos28 M 700,000& 700
AlHI 525
-l 175
s -8y gs NH 104,190 104,190
301 et24 = 104,190 104,190
05 S-cl-EEs2a3 104,190 104,190
Os&=¢ 200,000 *31H «12& 74,400
Os&EHH= 200,000& *31H »23] 12,400
Os&ze 4= 20,0003 »31&H x123] 7,440
OBEZEAS 25,0003 199 »23| 9,950
A=A 2 XEz2tel 14,990 14,990
201 B3| 14,990 14,990
02 E&E=23Hl 14,990 14,990
O& A2 700
st 34 200, 000& 200
SH83 A 200,000& 200
= 3=\ IR N 300, 000& 300
oxg =X 2,400,000& 2,400
OFAM HEAZHI 1,648,000& 1,648
O&AN HERX 1,537,000& 1,537

_37_




[}
R’

ok
ol

o o | O o o | O <t (=) (=) o | O (@) () < <t < | < o
(&) (&) o | O © < < < < [QN) [QN) Al | A
. o = =] <]«
m_o < < <]«
=
=)
() o | O (e) o | O < o o o | O (=) o < < < | < o
— — | — o xQ xQ Q| X M” (] Al Al ANl | AN o
s B (R[22 S 0o NN =
H3r
uiled
K=
o o — < (@) OO ©O O O O O () o 1o O (@) (@) (@) O 1O O O O O O o o o 10 O O O O
Al O — M~ — — | O O A 1O < [«) o 1O O < < < < I S O O O O o o O 1O © S O O
N © © NN B S 9 e®®® OO N0l o FF S S |I0|alam a6 S 9
3
<
=
oo 0N ol o RSB ol ) il o o o ot
o O o O o AN O W < o (@) o o o O o
o O O O o X * * x o * o o o O o
Qe Q< S W oW o o < oF) < < S < <
mr o o - < o o O O o o o o o o o o
AN O = M~ o O O O O (@) (&) (&) (&) O < [}
0 N © «©Q 0o 9 9 9 ™ < ~ < @9 <
A - S R 8 8 S @ «© A ~
_. » — — — ..A.o ©
o iy ©
= =
I 51 ol i
N W oo T T 5o - - - =
. o I
= W< oo oo _ o SR 3R 5 R o
= H < I+ Ul 4 oo | = z z —
F rT o T ol = 3 RICKE RDOKE RYOKE -
(G P M- cowo AR < KF OF kF OF Kk OF o &
F = D= T o m |~ O 3 0O- 30 O 3D <F <k
E.M_Momfma S (3 I A H W D |0 | u - |% 3 3 X 31 B0 o |D 8 0 B
o 0B TR RAD A ar | 0| % ey RI[80 O 2~ B0 0d 3 |m 0 3 B0
- < < < < oM Bl ® 5 o < Kl % H|H ol e KE O A =~ o 0 X |/ X W o &
R |mo ®0 ®0 RO |0k @) ™ T WA %g_ ol | KX S| |0~ W R X I ) [0k F = Mo OF
RO OOOO:.%MOOOOOH%Nme%%NOQO?O S|lol =< O O f O
. e R - e RO |80 0| oo | — o < ES IO T N
g W< ol | 8| | |R|K|° © o e S
o+ 3l K- O | mr | 3l TR RS
%0 | o ~

0

_38_



SN

2 E2S
Mo AH2E ZOIME OlEHAs
Chel: FRIME 2UAs K
— _ N e
SN HH G (EH) - MBAY - BYS Ak e 2
ZE2S 112,842 112,290 552
AlHI 10,800
-l 102,042
22 FoMY JIgr2 st 96, 360 94,060 2,300
AlHI 10,800
el 85,560
ol =S UA S 96,360 94,060 2,300
AlHI 10,800
-4l 85,560
FUXXE 292X 14,400 14,500 A100
AlHI 10,800
-l 3,600
2B A 14,400 14,500 A 100
AlHI 10,800
-l 3,600
01 AFR 22l 13,000 13,000 0
OFUXNXE T2 LA
20,000 *403| x12& 9,600
AlHI 7,200
-4l 2,400
OFBIXAAS 30 &A g
10,0003 #25H *122] *90% 2,700
Al Bl 2,025
-l 675
OsEs H&E 700,000& 700
AlHI 525
-l 175
232 ZH| 1,400 1,500 A100
O&LEH A2+ L LEt=2H]
1,400,000& 1,400
AlHI 1,050
-l 350
s -8y gs A 60,020 60,120 A 100
301 et24& = 60,020 60,120 A 100
05 &-cl-EtEEs2as 60,020 60, 120 A 100
OF=FSE=) 200,000 «18Y »12& 43,200
Os&EHH= 200,000 *18H 23| 7,200
Os&3 o a8 20,0002 »18H x123] 4,320
OHEZEAS 25,0003 106 23| 5,300
HASA ¥ XtE2el 18,620 13,620 5,000
201 B3| 13,620 13,620 0
02 =234l 13,620 13,620 0
O&F A2 700
st 34 200, 000& 200
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SN
X XH .
S Tt

el

_ _ _ N E
M- E& . S2(3) - HRAY - BaS Aboy o HlnE2

S83 A 200,000& 200
= -\ P) =N 300,000& 300
oxg =X 3,000, 000& 3,000
OFA H&AZH| 1,648,000& 1,648
O&AN HERX 1,424,000& 1,424
O&EAM &IIZ 4,815,000& 4,815
OFEAM & o2 350,000& 350
OFAN R 1,611,000& 1,611
O&EAMN EFMHREZ 72,000& 72

401 AlEHIL 201 5,000 0 5,000

01 Al&t| 5,000 0 5,000
OFAN sS4 5,000, 0002 =14 5,000

QIAES 2Y 3,020 5,520 A2,500

201 LBt A Y| 3,020 3,020 0

01 AFR 22| 3,020 3,020 0
O MA M 500, 000& 500
OdioIdEelH &8 2 300, 000& 204 600
OdioIdEeH EH 7 170,000 =44 680
OSMIEH 7 190, 0002 44 760
OHBAEH 2¢ 160, 0002 *3H 480

g sdd s JA 300 0 300

301 EtB A= 300 0 300

12 JIEt2 43 300 0 300
O=8l As8%4d &35 IR 24 300,000 300

HY2A G (ZA2S) 16,482 18,230 A1,748

A2 9,260 9,340 A 80

23l 9,260 9,340 A 80

203 HRF&Hl 9,260 9,340 A 80

01 J|22SEHFRF=&HI 5,940 5,940 0
OJ|&#2F YR =] 6,600,000& *90% 5,940

02 HANMMPRFEHI 320 400 A 80
OZFAINAHRFAHI 320,000& 320

04 BEASSEHRFLHI 3,000 3,000 0
ORNMZBEYEZ=AHI 3,000,000& 3,000

|23 7,222 8,890 A 1,668

| =&t 7,222 8,890 A 1,668

201 LBt Y| 7,222 8,890 A 1,668

01 AFR 22| 4,422 6,090 A 1,668
ORMEI+=EHI 2,070,000& 2,070

_40_




oF
R’

ok
o]

A0
Ko
=
D
o
[}
[ee]
o
LH3r
m<l
KIS
[aN] o o
L0 o o
™ QO D
N (eI N
3
<
=
o ot
o o
o o
S S
o | =)
X0 @ «
m-._ [aN] [aN]
ol
=
I+
z |_
. D
= ni0
= |nn
I
o Mﬁ _
L|._ m)
ol m
- M ooy @
=l = Mo OF
K0 O [ O
° aN]
g S
I+

_41_



